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1. (a) 27th April  Thursday
Now, number of days
between 27th april and 20th

october = 3 + 31 + 30 + 31 +
31 + 30 + 20 = 176

Now, 
176
14

36
35

7

1

25

2. (d)

Polygon

Angle

Diagonal

Cube

Decagon

Cone

I. True II. False
III. True IV. False
Hence, both conclusions I
and III follow.

3. (b)
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4. (b) Employee replied to the
customer that bus leaves the
depot at 10 minutes before and
next bus at 10:30 AM. So, that
means customer enquired at
10:10 AM.

5. (b) (14 + 41 = 55)
(36 + 63 = 99)
Similarly, 128 + 821 = 949

6. (c) (45 × 3) + 5 = 140
(35 × 3) + 5 = 110

(30 × 3) + 5 = 95  100
(25 × 3) + 5 = 80

7. (c) 4. Fabulous 3. Fantastic
2. Fascinating 1. Forest

8. (c)

9. (a)

So, A is sister-in-law of D.
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10. (a) Let, a = No of times glass of
11ml used
b =  no of times glass of 17ml
used.
c = no of times glass of 23ml
used.
ATQ,
11a + 17b + 23c = 147ml
By hit and trial, we get,
a = 3
b = 4
c = 2
So, Minimum 9 glasses are
required to fill the Jug fully.

11. (d) 1, 3, 4 adjacent

1, 3, 5 adjacent
So, 5 is opposite to 4.

12. (a)

13. (b)

14. (c)

15. (d)

16. (d)
82

7222

1
2

3
262

5
24

2

17. (b) 7  12  6 + 3
 7  12  3  6
 7  4  6
 11  6
 5

18. (a) After interchanging the
signs,
77 – 7 + 17 × 49  7
= 77-7+17×7
= 77-7+119
=189

19. (d) F-
V+

Y- H+

N-

D-

20. (d)
21. (a)

22. (a)

C

E B

DA

Here, B is sitting immediate
right to D.

23. (a) Ratio of present age of P and

Q = 2 : 3
Age of P = 2p
Age of Q = 3p
Eight years ago
Age of P = (2p – 8) years
Age of Q = (3p – 8) years
According to question age of

P =
Q

2

 (2P – 8) = 
(3P–8)

2
 4P – 3P = 16 – 8

P = 8
Age of 'P' = 2P = 2 × 8 = 16
Age of  'Q' = 3P = 3 × 8 = 24
Sum of the age of P and Q

= 16 + 24 = 40

24. (d)

W Z X

25. (c) (14)2 + 210 = 406
Similarly,

(19)2 + 361 = 722

B-GENERAL AWARENESS
26. (c) Bihu is a group of three

important Assamese festi-
vals in Assam - 'Rongali' or
'Bohag Bihu' celebrated in
April, 'Kongali' or 'Kati
Bihu' celebrated in Octo-
ber, and 'Bhogali' or 'Magh
Bihu' celebrated in Janu-

ary./fcgw vle esa rhu egRoiw.kZ
vlfe;k mRloksa &^jksaxkyh* ;k ̂ cksgkx
fcgw* vçSy esa euk;k tkrk gS] ̂ dksaxkyh*
;k ̂ dkVh fcgw* vDVwcj esa euk;k tkrk
gS] vkSj ̂ Hkksxyh* ;k ̂ ek?k fcgw* tuojh
esa euk;k tkrk gS] dk ,d lewg gSA
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27. (d) Jageshwar is famous for its
group of ancient Shiva
temples and is located near
Almora in Uttarakhand./

tkxs'oj çkphu f'ko eafnjksa ds vius
lewg ds fy, çfl¼ gS vkSj mÙkjk•aM
esa vYeksM+k ds ikl fLFkr gSA

28. (b)

29. (a) The Vellore Mutiny of 1806
was one of the earliest in-
cidents of organised rebel-
lion against British rule in
India. The rebellion was pri-
marily caused by the impo-
sition of new military regu-
lations, which were seen as
an affront to the religious
and cultural practices of the

Indian sepoys./1806 dk osYyksj
foæksg Hkkjr esa fczfV'k 'kklu ds fo#¼
laxfBr foæksg dh 'kq#vkrh ?kVukvksa esa
ls ,d FkkA ;g foæksg eq[; :i ls u,
lSU; fu;eksa ds ykxw gksus ds dkj.k
gqvk] ftUgsa Hkkjrh; flikfg;ksa dh /
kfeZd vkSj lkaLÑfrd çFkkvksa dk vieku
ekuk x;kA

30. (a) The decibel (dB) is a unit
used to measure sound in-
tensity. The decibel scale is
a logarithmic scale that
quantifies sound intensity

levels./Msflcy (dB) èofu dh rhozrk
dks ekius ds fy, bLrseky dh tkus
okyh bdkbZ gSA Msflcy Ldsy ,d
y?kqx.kdh; Ldsy gS tks èofu rhozrk ds
Lrjksa dks ifjekf.kr djrh gSA

31. (d) Sikkim is a state in the
northeast of India. It is bor-
dered by China to the north,
Bhutan to the east, Nepal to
the west and West Bengal to

the south./flfDde Hkkjr ds mÙkj
iwoZ esa ,d jkT; gSA ;g mÙkj esa phu]
iwoZ esa HkwVku] if'pe esa usiky vkSj
nf{k.k esa if'pe caxky ls f?kjk gSA

32. (b) Takht Shri Harimandir Ji
Patna Sahib is an important
religious place for Sikhs. It
is the birthplace of the
tenth Sikh Guru, Guru

Gobind Singh Ji./r[r Jh
gfjeafnj th iVuk lkfgc fl•ksa ds fy,
,d egRoiw.kZ /kfeZd LFky gSA ;g
nlosa fl• xq#] xq# xksfcan flag th dk
tUeLFkku gSA

33. (c) More than 68 percent of
the fresh water on Earth
is found in icecaps and
glaciers, and just 30 per-
cent is found in ground-
water. Only 0.3 percent of
our freshwater is found in
the surface water of
lakes, rivers, and

marshes./i`Foh ij rkts ikuh
dk 68 çfr'kr ls vf/d vkbldSIl
vkSj Xysf'k;jksa esa ik;k tkrk gS] vkSj
fliQZ 30 çfr'kr Hkwty esa ik;k tkrk
gSA gekjs ehBs ikuh dk dsoy 0-3
çfr'kr gh >hyksa] ufn;ksa vkSj nyny
ds lrgh ty esa ik;k tkrk gSA

34. (a) India receives most of its
rainfall from the south-
west monsoon winds. The
southwest monsoon pe-
riod is the period between
June to September. The
southwest monsoon is the
seasonal wind that blows
in a southwesterly direc-
tion from the Arabian Sea
towards the mainland of

India./Hkkjr viuh vf/dka'k o"kkZ
nf{k.k&if'peh ekulwuh gokvksa ls
çkIr djrk gSA nf{k.k&if'pe ekulwu
vof/ dks twu ls flracj ds chp dh
vof/ dgk tkrk gS A nf{k.k if'pe
ekulwu o"kZ ls gksus okyh ekSleh
gok,a gSa tks nf{k.k&if'pe fn'kk esa
vjc lkxj ls Hkkjr dh eq[; Hkwfe
dh vksj cgrh gSa A

35. (d) Kolhapur, located in the
state of Maharashtra, is
known for its industrial
development. The city is
famous for its foundry and
engineering industries,
which produce automo-
tive parts, machinery and
casting components./

egkjk"Vª jkT; esa fLFkr dksYgkiqj vius
vkS|ksfxd fodkl ds fy, tkuk tkrk
gSA ;g 'kgj vius iQkmaMªh vkSj
bathfu;fjax m|ksxksa ds fy, çfl¼ gS]
tks vkWVkseksfVo ikV~lZ] e'khujh vkSj
dkfLVax ?kVd dk mRiknu djrk gSA

36. (d) Ibrahim Lodi was the last
ruler of the Lodi dynasty

of the Delhi Sultanate. He
ruled from 1517 until his
defeat and death in the
First Battle of Panipat in

1526./bczkghe yksnh fnYyh lYrur
ds yksnh oa'k dk vafre 'kkld FkkA
mUgksaus 1517 ls 1526 esa ikuhir ds
çFke ;q¼ esa viuh gkj vkSj eR̀;q rd
'kklu fd;kA

37. (c) Article 38 directs the State
to promote the welfare of
the people by ensuring a
just and fair social order./

vuqPNsn 38 jkT; dks ,d U;k;laxr
vkSj fu"i{k lkekftd O;oLFkk
lqfuf'pr djds yksxksa ds dY;k.k dks
c<+kok nsus dk funZs'k nsrk gSA

38. (b) The Parliament has passed
the 73rd Constitutional
Amendment Act to grant
legislative status to the
Panchayati Raj Institu-
tions of India by adding Ar-
ticle 243 and Part IX of the

Indian Constitution./laln us
Hkkjr ds iapk;rh jkt laLFkkuksa dks
Hkkjrh; lafo/ku ds vuqPNsn 243 vkSj
Hkkx IX dks tksM+dj fo/k;h ntkZ nsus
ds fy, 73oka laoS/kfud la'kksèku vf/
fu;e ikfjr fd;k gSA

39. (a)
40. (b) The 'Employment' theme

in the Union Budget 2024-
25 focuses on various com-
ponents to boost job cre-
ation and economic
growth. Finance is not
listed as a component un-
der the 'Employment'

theme./dsaæh; ctV 2024&25 esa
^jkstxkj* fo"k; jkstxkj l`tu vkSj
vkfFkZd fodkl dks c<+kok nsus ds fy,
fofHkUu ?kVdksa ij dsafær gSA foÙk dks
^jkstxkj* fo"k; ds varxZr ,d ?kVd
ds :i esa lwphc¼ ugha fd;k x;k gSA

41. (d) The stability of atom is not
described in Rutherford
model of atom. Bohr ex-
plained about the stability

of atom./ijek.kq ds jnjiQksMZ ekWMy
esa ijek.kq dh fLFkjrk dk o.kZu ugha
fd;k x;k gSA cksj us ijek.kq dh fLFkjrk
ds ckjs esa crk;kA
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42. (c) Respiration is the process
by which our bodies re-
lease energy from food.
The function of the respi-
ratory system is to breathe
in oxygen and expel carbon
dioxide to produce energy

from food./'olu og çfØ;k gS
ftlds }kjk gekjs 'kjhj esa Hkkstu ls
ÅtkZ fudyrh gSA 'olu ç.kkyh dk
dk;Z Hkkstu ls ÅtkZ mRiUu djus ds
fy, vkWDlhtu esa lkal ysuk vkSj
dkcZu MkbvkWDlkbM dks ckgj fudkyuk
gSA

43. (a)
44. (a) He is best known for dis-

covering the smallpox vac-
cine. He is often referred
to as the "Father of Immu-

nology"./mUgsa pspd ds Vhds dh
•kst ds fy, tkuk tkrk gSA mUgsa
vDlj "bE;wuksykWth (çfrj{kk foKku)
dk tud" dgk tkrk gSA

45. (b) India's first Arya Samaj
temple was built in
Almora, Uttarakhand.
Almora is a city in the
Kumaon region of
Uttarakhand and has a
rich historical and cultural

heritage./Hkkjr dk igyk vk;Z
lekt eafnj vYeksM+k] mÙkjk•aM esa
cuk;k x;k FkkA vYeksM+k mÙkjk•aM ds
dqekÅ¡ {ks=k dk ,d 'kgj gS vkSj
bldh lè¼ ,sfrgkfld vkSj lkaLÑfrd
fojklr gSA

46. (d) Captain Hawkins reached
the court of Jahangir in
April 1609. But due to the
opposition of the Portu-
guese, the mission to es-
tablish a factory in Surat
was not successful and
Hawkins left Agra in No-
vember 1611. The British
established their first fac-
tory on Indian land in Surat

in 1613./vçSy 1609 esa gh dSIVu
gkWfdal tgkaxhj ds njckj esa igqapsA
ysfdu iqrZxkfy;ksa ds fojks/ ds dkj.k
lwjr esa ,d dkj•kuk LFkkfir djus
dk fe'ku liQy ugha gqvk vkSj gkWfdal
us uoacj 1611 esa vkxjk NksM+ fn;kA

vaxzstks us Hkkjrh; /jrh ij viuk
igyk dkj[kkuk 1613 esa lwjr esa
LFkkfir fd;kA

47. (d)
48. (c)
49. (a)

50. (a)

C - QUANTITATIVE APTITUDE
51. (c) Fourth proportional =

288 161

336


= 138

52. (a) Selling price of 100 articles
= Rs. 9600
So, selling price of each
article = Rs. 96.
 Cost price of each article

 96
= =Rs. 72

1.33

Selling price of each article

at profit 66.67% = 72 × 
5

3
 =

Rs. 120
53. (b) ATQ,

efficiency of X and Y
X - 7
Y - 8
Total work = 15 × 75 = 1125
X did the work= 7×45=315
Remaining work will be
completed by Y in

=
1125 – 315

8
=

810

8
=101

2

8

54. (b) 280x y

Distance travelled by train
in 2 hrs.

60 = 
d

2

d = 60 × 2 = 120 km
So, the remaining distance
= 280 –120 = 160 km
So they meet after

Relative speed = 
distance

time

(60 + 20)= 
160

T

t = 
160

80
= 2hrs

So, 4 hours later the train
leaving from X meet the

train which left from Y.

55. (a) A BP

C DE
24

Let PE is the height of DPCD

Area = 
1

2
× CD × PE

= 
1

2
× 24 × 24= 288 cm2

56. (d) Let the no. of cones = x
Volume of cylinder

= x × volume of 1 cone

2
1 1r h = x× 

1

3
p 2

2 2r h

3×(3)2×4 = x ×(1)2 ×2
27 ×2 = x
x = 54

57. (d) Speed of stream (v) = 2 m/hr
Total time = 10 hrs
distance = d = 40
Let the speed of boat= u

40

u – 2
+

40

u 2
= 10

1

u – 2
+

1

u 2
= 

1

4

Let's check the value of u by
option.
u = 8.47km/hr

58. (a)30% of [(820% of 40)–28)% of
600

=
30

100
×

820
40 – 28 % of 600

100

  
    

=
30

100
×  328 – 28 % of 600  

=
30

100
× 

300

100
× 600 = 540

59. (a)We know that,
a3 + b3 = (a+b) (a2+b2 – ab)
a3 – b3 = (a–b) (a2+b2+ab)
ATQ,

2 2(cos A sin A)(cos A sin A – cos A sin A)

cos A sin A

 


+

2 2(cos A – sin A)(cos A sin A cos A sin A)

cos A – sin A

 

= 1– cosA sinA + 1+ cosA sinA

= 2
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60. (c) Required ratio

=

720 350
11 8

9 7

540 3 270
7

2 3

 
    

 
   

=
880 400

810 630




= 

1280

1440
=

8

9
= 8:9

61. (d) Given,

     

 

32 2m +n m – n – m – n
 

mn m – n

 
 

  

     

 

22 2m – n m n – m-n

mn m – n

 
 

  




2 2 2 2m +n m -n 2mn

mn

  


= 2mn/mn = 2
62. (a) We know that,

Product of two numbers =
H.C.F × L.C.M
187 × y = 4301 × 11
y = 253

63. (b) 23 - [13.8 - {6.5 - (5.4 - 9.3 - 4.8)}]
= 23 - [13.8 - {6.5 - (5.4 - 14.1)}]
= 23 - [13.8 - {6.5 + 8.7}]
= 23 - (13.8 - 15.2)
= 23 + 1.4 = 24.4

64. (c) Compound Interest

3
R

P 1 –  P
100

 
  

 

3
109

100000 – 100000
100

 
  



= 129502.9 - 100000
= 29502.9  29503

65. (d) Total number of votes =
4500 Valid votes

4500 94
4230

100


 

So, votes received by other
candidate

4230 30
 1269

100


 

66. (b) Whole number starts from
= 0
So, series  will be :-
0+1+2+3+....+110

110 111
sum

2




Therefore, unit digit will be ‘5’

67. (d) If a number is divisible by 11
then, the difference of sum of
odd places and even places
digit is 0 (or) multiple of 11.
So,

 

(7+8+6)–(3+A+A)
= 21 – 3 – 2A
= 18 – 2A
So, 18 – 2A = 0, Or 18 – 2A
= 11
2A = 18 2A = 7
A = 9

7
A

2
 (×)which is not possible.

68. (d) 6

2 3

tan = 
6 P

B2 3


tan = 3

o60

69. (a)

3 4
x 1 2

y 3 3

    
       
   

3 4
3

4 4

x ( 3) 2 16
( 1)(3)

y 3(3)3

2

 
    
 
 
  

Now,

= 

1 1
x y 16 3

y x 3 16

           
  

= 
1

(256 9)

48

  
  
 

=
48

265



70. (c) A  8 
B  10

5
4

40

Since, B rest every third day.
So, and B works for two days
together and on 3rd only A
will Work in 1st Two days
= (5 + 4 ) × 2 = 18
Work on 3rd days = 5 × 1 = 5
So, Total 23 unit work in 3
days.
So, Remaining wor k =17

Time. to do Remaining

work
17

9


Hence,  Total time 
17

3
9

 

8
4 Days

9


71. (a)For 1st Article For 2nd article
Profit = 20% Loss = 10%
So, C.P : S.P = 5 : 6
So, C.P : S.P = 10 : 9
In Question S.P of both
article are same so, ratio of
1st article & ratio of c.p of s.p
for 2nd article
C.P : S.P = 15 : 18
C.P : S.P = 20 : 18
So, overal CP and S.P
C.P = 35 & S.P = 36

Overall profit = 
1

100
35



6
2 %

7


72. (d) Total employees = 40
According to question,
Total salary of all employees
can be calculated as
(5×2,50,000)+(15×80,000)
+(20×45,000) = 33,50,000

 Average Salary =

             
33,50,000

40
= 83,750

73. (a)16y2 – K = 
3 3

4y 4y –
2 2

  
    
   

16y2 – K = 16y2 – 
9

4

9
K

4


74. (b) According to question,

     

x + y = 15

x – y 3

x 9

y 6







   4
4

9

5

6

3 3

 Area of trapezium =

1

2
(sum of parallel sides) × Dis-

tance between the parallel

sides = 
1

2
× 15 × 4 = 30 cm2
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75. (c) A + B  30

B + C  45

A + B + C  25





15
10
18

450

So, efficiency of B is 7

So, Time taken by  B to do

the job alone 
450

days
7



D-ENGLISH COMPREHENSION

76 (d). Hue and Cry ('kk s j&'kjkck)
means a loud public outcry

or protest, especially to

express dissatisfaction or

demand attention.

77 (b). All words are correctly  pelled:

“employed,” “commodities,”

“assisting,” and “rescue.”

78 (d). Active Voice Structure:

would + Subject + verb (V
b.f

)

+ object

Would you repair the

bike?

Passive Voice Structure:

would + Object + be +  V3 +

by + subject ?

Would the bike be repaired

by you?

79 (d). Reassured (vk'oLr fd;k)
means to comfort oneself or

calm fears, especially by

convincing oneself that

there is no danger.

Retained (j•k@l atk s, j•k)
means to keep or hold

something.

Remembered (;kn fd;k)
means to recall something

from memory.

80 (b). Articles are not used with

uncountable nouns like

“tea” when speaking

generally. The sentence

refers to tea in general, not

a specific type or instance

of tea.

81 (b). The correct spelling is

“messing”, which means to

make something untidy or

disorganized.

Entire (i w j k) : Correctly

spelled. It means complete

or whole.

Laundry (diM+s /ksus dk dke):

Correctly spelled. It refers to

clothes that need to be

washed or have been

washed.

Important(egRoiw.kZ): Correctly

spelled. It means having

great significance or value.

82 (d). The correct order is: ADCB.

A: Introduces the narrator’s

walk along the beach and

finding plastic waste.

D: Provides the background

information about how the

waste ended up there

(dumped by an industry).

C: Describes the reaction of

children who came to clean

the beach after seeing the

waste.

B: Concludes with the

narrator joining the

children to clean the beach,

emphasizing the

importance of the action.

83 (d). Pull yourself together ('kkar
gk su k) refers to regaining

control of your emotions and

calming down after being

upset or distressed.

84 (d). Fragmented (VqdM+ksa esa fc•js
gq,) refers to something that

is broken into parts or

pieces. Similarly, “broken”

(VwVh gqbZ)  means something

that is damaged or not

whole.

Unified (,dhÑr) means

something that is brought

together as a whole

Compact (ladqfpr) means

something closely packed

together or small in size

Rectified (lq/kfjr) means

something that has been

corrected or fixed

85 (d). In comparison, the correct

pronoun to use is “I”

(subject form), not “me”

(object form).

The correct sentence

should be “as concerned as

I am.”

86 (d). It should be “of one

another,” when referring to

mutual actions or feelings

between two or more people.

87 (b). Active Voice Structure:

Subject + verb (V1) + object

He + ordered + the police to

pursue the robber and his

gang.

Passive Voice Structure:

Object + were + ordered +

to + verb (V1) + by + subject

The police + were ordered +

to pursue + the robber and

his gang + by him.

88 (a). Keen (rst) means having a

sharp or highly developed

sense, or being eager and

enthusiastic. Its opposite is

Insensitive (vlaosnu'khy),

which refers to lacking

sensitivity, awareness, or

concern for others’ feelings.

Accurate (lgh)  means

being exact or correct

Perceptive (lw{e fujh{k.k djus
okyk) means having good

insight or understanding

Subtle (lw{e) means not

easily noticeable

89 (d). A valley (?kkVh) refers to a

low area of land between

hills or mountains, often

with a river running

through it.

Plateau (iBkj) This is a

flat, elevated area of land.

Beach (leqnz rV) Refers to a

sandy shore by the sea.

Gulf (•kM+h) : Refers to a

large area of sea partly

enclosed by land.
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90 (c). Winsome (vkd"kZd) means

charming or attractive,

particularly in a way that

draws people in or appeals

to them. Its opposite is

repelling (vLohdk;Z), which

refers to something that

causes a strong feeling of

dislike or disgust.

Cunning (/qrZ) means being

skillful in deceit or trickery.

Satisfying (larks"ktud) means

providing fulfillment or

contentment

Winning (fotsrk) refers to

being victorious

91 (b). but neither of them knew it

Neither is used to refer to

two things or people when

the statement indicates

that both of them are

involved in a negative

scenario.

92 (d). Vindicate (funkZs"k lkfcr djuk)
refers to clearing someone

of blame or suspicion, or

proving their innocence.

Similarly, “exonerate”

(eqDr djuk)  also means to

officially declare someone

not guilty or free from blame.

Prove (fl¼ djuk) means to

demonstrate the truth of

something

Assess (ewY;kadu djuk) means

to evaluate or judge

Banish (fudkyuk) means to

expel or remove someone

93 (c). “during” is used to indicate

that something happens

within a specific period or

event. In this case, it

means trying to phone

someone at some point

when the meeting is

happening.

94  (b).This is one of the most

beautiful places in the

area.

This sentence uses the

superlative form “most

beautiful” to emphasize

that this place is among the

most beautiful in the area.

95 (c). Quixotic (vokLrfod) refers to

someone who is extravagantly

romantic, chivalrous, and

impractical.

Teetotaller ('kjkc ls ijgst
djus okyk) refers to someone

who abstains from alcohol.

Blonde (lkaoyk jax) refers to

a person with light-coloured

hair, usually describing

physical appearance.

Virago (efgyk ;ks¼k) refers

to a woman who is strong,

fierce, or dominant.

96 (d)

97 (c)

98 (c)

99 (a)

100 (b)
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